Code No. :10613 B Sub. Code : CMEC 12

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2023.

First Semester
Economics — Core
STATISTICS FOR ECONOMICS —1I
(For those who joined in July 2021 — 2022)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1= 10 marks)

Answer ALL questions.

Choose the correct answer :
1. ‘evGLLLeV eretp @esdler currenguller Glummer
(31) saeue GeamssHe
(SY) HS6UD (LPeiT NeUSHSE
(@) ATE

(FF) &&6ued GigmLi



The Latin word ‘Status’ means
(a) Collection of data

(b) Presentation of data

(c) DPolitical state

(d) Data relation

yerafl@uwier  apeppser et enssafiled
QUSSTET HHANWTGLD.
() Blyewriv (=), U@HA Quppeurt

(@) Sguebilssai  (FF) Pyerggieuwnppeui

Statistical methods are most dangerous tools in
the hands of

(a) Expert (b) Trained

(¢) Experienced .(d) Inexpert

snom gmr  Qgmiir  euflessstear auenyuLLd
aTar S@P&sLGHDS.

(1) CpiGamifp euemyuLtd

(<) QecuausliLiLID

(@) el eflletésuuLtd

(F) UL faTssliuLtd

Graphs of time series are called

(a) Line graph ~(b) Histograms

(¢) Pie diagram (d) Pictogram
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amslUHSHSD  eTerUg pepULIL
SMWEGD auflum@L.

(=) ueCGagy aflesser
() ueGaum Hevgser
(@) udGoup euflensaer LHHID Blengaer

(m) QeruiyeLw eflswnismer Qsn@sg LOGaup
Wfleysarns

Classification is the process of arranging data in
(a) different columns

(b) different rows

(¢) different columns and rows

(d) grouping of related facts in differeﬁt classes

aws sarsdaughE, Yearafl sleuriisemar
afl@stiuBsgaug Seudluib.

(SN) sl & sgnafl
(=) Qupésd gynef
@) PoLflow

(m s
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For calculating , it is necessary to

arrange the data.

(@) Arithmetic Mean
() Geometric Mean
(¢ Median

(d) Mode

Qearamn Aarmsade Qobs Ws® srdars :- 25,
36, 25, 30, 32, 25, 32, 37, 40

(31) 25 (=) 32
(@) 4o (F) 30

Calculate Mode from the following data : 25, 36,
25, 30, 32, 25, 32, 37, 40

(@ 25 (b)‘ 32

© 40 @ 30

aarug  fspoe  JPybd UL
ODWTGLD. -
(=) sieeQeudr uaGsrambd
() uLlenL auenguL LD

(@) Porers aumarGanp

()  Cupsmdlu earsgib
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(@)

is a graphic method of studying

(d) All the above

dispersion.

‘ Frequency Polygon
(b) Band Graph
(¢) Lorenz Curve

gymefl = 79, AL ewssd = 8 eafile CV
ereueUaTa ?

() 10.12

(o))

87

(<24) 9.88
(rF) 6.32

When Mean is 79 and Standard deviation is 8.
CV.=

(a)
(©

10.12
87

Po=3  eraflen,
SiwssiLBEng.

(31) sWE&EET

(@) Wenas e
If p, =3, the distribution is called

(a)
(©

Mesokurtic

Platykurtic

() 9.88
@ 6.32
LIITGUGI)ITGUT@ - GTeur

(=) PP

() Gamlib

(b) Leptokurtic
(d) Skewed
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10.

11.

12.

Gam L&Qsw = 0 aafle, uFuerang
(i) J augaieperLwgl

(=) U ageaigperwg

(@) swsEyrang

() L eageigpeLws)

When coefficient of skewness is zero, the

distribution is .

(a) J shaped (b) U shaped

(c) Symmetrical (d) L shaped

PART B — (56 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Answer should not exceed 250 words.
(@) pussaigsd wop updl Ap GHILY aWss.
Write a brief note on Census method.

Or

(<) @ramimd Hever yertefl elleupmisdr Gumibd
aflpansamer aflaufl.

Describe the sources of secondary data.

() @0 StLamandar wasdu ugdsmer

card@a.
Explain the essential parts of a Table.
Or
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o

() Qarhéstulerar elleurhsEhéE iemebeudr
uGsmanTd enLp&EEaLD.
wHuQuarsar: 0-1010-2020-30 30-40 40-50 50-60 60-70 70-80
LDTERTEU T & T 4 6 14 16 14 8 16 5
aaTaflEans :
Construct a frequency polygon from the
given data.
Marks : 0-1010-20 20-30 30-40 40-50 50-60 60-70 70-80
No. of students: 4 6 14 16 14 8 16 5

13. (o) QGeraumbd eNeurmseald @Qmbs Qesssrrsfl
wilibemar samsslGHs.

Wfey @enQeuaf : 10-20 20-30 30-40 40-50 50-60
S|emaQeueT : 4 6 10 7 3

Estimate the value of Harmonic mean from
the following data.

Class Interval : 10-20 20-30 30-4040-50 50-60
Frequency : 4 6 10 7 3

Or

(<) 100 wrewmeuisaiar syrefl wHUQUERT 40 eTans
s@rLMutiucLgl. 9nE 53 erarp WwHOLGLIGGT
saumgons 83 erard  SHSUULLE &
g ssiuLg. sllurer srrefleows sy

The mean marks of 100 students were found
to be 40. Later on it was discovered that a
score 53 was misread as 83. Find the correct
mean.
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14.

15.

(=)

(<)

(31)

(=)

i ewssd aap smsdoar  olarsss.
56T Heenld LHMID GHDUTHISET Wrena ?

Explain the concept of standard deviation.
What are its merits and demerits?

Or
Qereu@pd  eNeuphisEnéE
syrefl lessb saréd[Hs.
X:24681012 14 16
F:22453 2 1 1

gynsfuiel(mpe

Calculate the mean deviation from the mean
for the following data.

X:24681012 14 16
F:22453 2 1 1

sleL upHl Ay GHLY Tgs.

Write a short note on Kurtosis.

* Or
sgnafl = 40, AL efewésd = 10, &
Quisafler GsriL s Qs = 0.5 eafe,

AeLflene
STy

womb  apslgar LS mans

If Mean 40, Standard Deviation 10, Karl
Pearson's coefficient of Skewness = 0.5, find
Median and Mode.
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PARTC —(5x 8=40 marks)

Answer ALL questions, choosing either (a) or (b).

16. (=)

()

17. (=)

(=)

Answer should not exceed 600 words.

yeraflulweller WsEwsg b WHMILD
Gopurhsmar efleul.
Describe the importance and limitations of
Statistics.

Or -
#0pPss®  wepdar  Aply  whHmb
(GODENET BYLTMLIE.
Examine the merits and demerits of
Sampling method.

assuupsgsdlean cumssmar ailarsEs.
Mustrate the types of classification.
Or

weguLb efasss smid@ear Apuy HmitDh
Gopsmar afleuns).

Discuss the merits and demerits of
diagrammatic presentation.
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1S, (S) ey SiLLeueent ePSOLDd
AeurisEréE Wsh sans.

Sfiey @ Qaefl : 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90

soobasmser: 5 9 13 21 19 15 8 3

Wemeu(mib

Calculate the Mode by grouping method from
the following data.

Class Interval : 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90
Frequencies : 5 9 13 21 19 15 8 3

Or
(=) Qaraumd Qs Admis QeoLfow whmb
sl 0§ syrefl sansd(Hs.
X: 0-5 5-10 10-15 15-20 20-25 25-30
F: 5 7 10 8 6 4

Compute Median and Arithmetic mean from
the following series.

X: 0-5 5-10 10-15 15-20 20-25 25-30
F: 5 7 10 8 6 4

19. (o1 Qrawn® Qgmfpsreowsald, em GQummelar

brg 2 Hus Qgriiyen.  cleugid &Gy
QsrRsstucHerarg).
Qgmfharena g 2 HusH (Lersafled)

A 30 50 4554 49 53 6046 4156 59 45
B 70120 20 15 130 100 90 80 10 25 95 85
aps Qsmfpsree Sids Hpawwrag wHHIb

ThS Qzmfperene s Hevews
SETMLUDLIG) TAT LUGSSTIS.

Page 10 Code No.: 10613 B

20.

Factory
A

B

(=)

(=)

The data relating to the monthly production
of a product in two factories are given below.

Monthly production (in tonnes)
30 50 4554 49 53 604641565945
70 120 20 15 130 100 90 80 10 25 95 85
Analyse which factory is more efficient and
which factory is more consistent.

Or

Agpeller  arelid  woCGaumy  penpEEET
cllamé (5.

Explain the different methods of measuring
dispersion.

amred Wuirsafler Cam’ L &0swp wAHIGHS.

19fay : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

f:

11 22 30 35 21 11 6 5

Estimate Xarl Pearson’s
skewness.

coefficient of

Class : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

f:

(<2b)

11 22 30 3 21 11 6 5
Or
eflergaiLLLb 2 geflyyL e Cam L gden

amssmear  sTLHs.  Gogib  Gari L sdlenar
SerefiGd uGeaum perpaemer efleul.

With the help of diagrams show the types of
Skewness and describe the various measures
of skewness. ’
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